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AT

#include<iostream>
using name ce std;

int main(){
float k=0.617, dt=0.1, th=90.0, t1=25.0, d=0.01, den=997.0, c=4200, h=5.0;
int time=36000, n=50;
float altimel [n], dx=d/n;
for(int i=0;i<n;i++){
alo] [i]=t1;
¥
for(int i=0;i<time-1;i++){
ali+l] [@]=kx(((alil [1]-alil[@])/dx)-((alil [@]-th)/dx))*dt/(denkckxdx)+alil [@];
for(int m=1;m<n-1;m++

ali+1] [ml=kx(((alil [m+1]1-alil [m])/dx)-((alil [ml-alil [m-1]1)/dx))*dt/(denxckdx)+alil [m];

ali+l] [n-11=(hx((tl-alil [n-11))-kx((alil [n-1]-alil [n-2])/dx))*dt/(denkxckdx)+ali] [n-1];
}
for(int i=@;i<time;i+=300){
cout<<i<<" ";
for(int m=0;m<n;m+=5
cout<<ali] [m]<<'

o,
’

cout<<endl;

b

return 0;
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#include<iostream>
#include<math.h>
using namespace std;

int k;
cin>>k;
double None=1.000277, Ntwolk], Nthree=1.559749417, Pzerolk][2],

1
2
3
4
5 int main(){
6
7
8
9 Pone[k] [2], Ptwolk][2], Pthreelk][2], r=0.8660254038, d[kl, nl[k];

10 double sinthetalk], sinthetapplk];

11 double m=None/Nthree;

12 cout<<"EAHAR";

13 for(int i=0;i<k;i++){

14 cin>>Pzero[i] [6]>>Pzero[i] [1];

15 }

16 cout<<"BABTHILE";

17 for(int i=0;i<k;i++){

18 cin>>Ptwo[i] [0]>>Ptwo [i] [1];

19 ¥

20 cout<<"iBHt}

21 for(int i=0;i<k;i++){

22 cin>>Pthreeli] [0]>>Pthree[i] [1];

23 ¥

24 for(int i=0;i<k;i++){

25 sinthetapp[il=fabs(Pthree[i] [0]-Ptwo[i] [0])/

26 pow(pow(Pthree[i] [0]-Ptwo[i] [@],2)+pow(Pthree[i] [1]-Ptwo[i] [1],2),0.5);
27 d[il=mksinthetapp[il*r/(pow(1-pow(mksinthetapp[i],2),0.5));
28 ¥

29 for(int i=0;i<k;i++){

30 if(Pzero[i] [0]>Ptwo[i] [0]){

31 Ponel[i] [@]=Ptwo[i] [@]+d[i];

32 Pone[i] [1]=Ptwo[i] [1]+r;

33 +

34 else{

35 Pone[i] [0]=Ptwo[i] [0]-d[i];

36 Pone[i] [1]=Ptwo [i] [1]+r;

37 ¥

38 ¥

39 for(int i=0;i<k;i++){

40 n[il=Nonexfabs(Pthree[i] [6]-Ptwo[i] [@])*pow(pow(Pzero[i] [0]-Pone[i] [@],2)+pow(Pzero[i] [1]-Pone[i][1],2),0.5)
41 /(fabs(Pzero[i] [@]-Pone[i] [@])*pow(pow(Pthree[i] [0]-Ptwo[i] [@],2)+pow(Pthree[i] [1]-Ptwo[i][1],2),0.5)) ;|
42 cout<<n[il<<";";

43 H

44 return 0;

45 ¥
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